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aw of Cosines p. 66

Use for triangles when you are given:

« SSS - Always find largest angle 1st with law of
cosines, then middle angle with law of sines &
then the smallest angle

« SAS - Use law of cosines to find the missing
side, then use law of sines to find the angles (find

smaller angle 1st) 5 i;

Law of the Cosines

Law of Cosines:

a=b*+c*=2.b-c-Cos(4)
b*=d*+c¢'—2-a-c-Cos(B)
F=a*+b —2-a-b-Cos(C)

1. Solve the triangle given C= 108° a=10 h=£.5
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3. Solve the triangle givena=9, b =3, ¢ = 11
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